Algebra I Pre-AP – Answer Key to Practice Review for Test 201
There are 30 possible on this assignment, which is #205.  Any assignment that is not accurately graded out of the correct number possible will be returned and will automatically be deemed late.
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2)              y = 2
	3)                                          The “zero” of the
                                              function is -3 (the x-int)

	4)  
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	5)                                       y-int: (0, 6); x-int: (-2, 0)


	6)  
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	7a) 
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	7b) f(30) = 80 feet after half an hour                       
	7c)   
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	7d)  It took 70 minutes to land

	8a)  
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	8b) 87 minutes  

	8c) $32.80                                  
	9a)    
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	9b) 405 miles               
	10) parallel slope = 4 ; perpendicular slope = 
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	18)  The slope is 
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 and the y-intercept is (0, 12)
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